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Circle
Lecture-13

Class-8: Math(Chapter-10)



Previous Homework

 

Here 9� − 7� = 13 and 5� − 3� = 9 two simple simultaneous equation.

(A) Which equation satisfied this point (0, −3) ? 2

(B) Solve the equations by using the method of elimination .

4

(C) Draw the graph for the equations and find the abscissa and the ordinate of 

the point of                          intersection 4
Solution

(A) Given equations ,

9� − 7� = 13………… �

5� − 3� = 9……………(��)

Putting the value of x=0 and y=-3 in L.H.S. in equation (i) and we get,
9 × 0 − 7 −3 = 21 ≠ R.H. S.

Again,
Putting the value of x=0 and y=-3 in L.H.S. in equation (ii) and we get,
5 × 0 − 3 −3 = 9 = R.H.S.



Previous Homework
(B) Given, 9� − 7� = 13 … … … … �

5� − 3� = 9 … … … … … (��)

Multiply equation (i) by 3 and equation (ii) by 7,
27� − 21� = 39 … … … … ���

35� − 21� = 63 … … … … ��

Now, subtracting (iv) and (iii), we get
8� = 24

                                                     ∴ � = 3

putting the value o x in equation (i) and we get,
9 × 3 − 7� = 13

Or, 27 − 13 = 7�

Or, 7� = 14

∴ � = 2

Required solution is �, � = (3,2)



 

Previous Homework
(C) 9� − 7� = 13

Or, 9� − 13 = 7�

Or, � =
��� !

"
… … … �

We construct the table below by finding values of y  for different values of x:

# −$ % &'

� −7 2 11

Table-1

Again, 5� − 3� = 9

Or, 3� = 5� − 9

Or, � =
(���

!
… … … ��

We construct the table below by finding values of y  for different values of x: 

# −% % )

� −8 2 7

Table-2



 

Previous Homework



Poll Question 01

From previous lesson

Father’s age is fourth times of his son age . 4 
years before , summation of their age was 52 
years . How old is the father now?
(a) 32 (b) 38 (c) 48 (d) 52



From previous lesson   

Poll Question 02

Tuhin is 5 years old. If rifat’s age is fifth times 
greater than tuhin’s age , how old is rifat ?

(a) 10 (b) 25 (c) 30 (d) 20



What will we learn from chapter-10 ?

Mathematical 
problems 

about circle



Chapter-10.1



Chapter-10.1



Chapter-10.1



Exersice-10.1

3. Two chords AB and AC of a circle make equal angles with the radius through A . Prove that 
AB= AC .

Solution:
Proposition: Let, * be the center of the circle and Two chords AB and AC of a circle make 
equal angles with the radius through A .We have to Prove that +, = +-.
Proof:

Steps Justification
(1) In ∆AOB and ∆AOC,
BO =  CO [radius of same circle]
∠BAO = ∠CAO

and OA = OA [common side]
∴ ∆AOB ≅ ∆AOC [R.H.S. theorem]
∴ AB = AC (proved)



Exercise-10.1
4.In the figure , O is the center of the circle and the chord AB=chord AC . Prove that 
∠,+* = ∠-+*

Solution:
Proposition: In the figure , O is the center of the circle and the chord AB=chord AC . We 
have to Prove that ∠,+* = ∠-+*

Proof:

Steps Justiication
(1) In ∆+*, and ∆+*-

+, =  +- [supposition]
*, =  *- [radius of same circle]
and *+ = *+ [common side]
∴ ∆+*, ≅ ∆+*- [RHS theorem]
∴ ∠,+* = ∠-+* (Proved)



O be the center of ABC circle where OD⊥AB .

If AB=16cm and OD=6 cm , what is the value 

of the radius ?[Cm.B.-15]

(A)10cm (B)14cm

(C)17cm (D)22cm



Chapter-10.2



Chapter-10.2



Chapter-10.2



Exercise-10.2
3. Show that equal chords drawn drawn rom the end points on opposite sides o a diameter are 
parallel
Solution:

Proposition: let, O be the center of ABCD circle . Draw chord AD of point A and chord BC of 
point B from Diameter AB . We have to show that AD ∥ BC .
Proof:

Steps Justifications
(1) Here, +9 = ,- [suppositions]
And +, is their transversal ,
∴ ∠,+9 = ∠+,- [radius of same 

circle]
(2) Alternate angles are always equal . So, 
AC and BC are parallel.
∴ +9 ∥ ,- (Proved)



Exercise-10.2
4। show that, Parallel chords are drawn from the end points of a diameter are equal.
Solution:
Proposition: Let, * be the center of a circle where AB is the diameter . Draw chord AD of point A and chord BC of 
point B from Diameter AB  and +9 ∥ ,- . We have to show that , +9 = ,-

Construct : Draw perpendicular lines OM and ON from center O on AD and BC respectively .
Proof:

Steps Justifuactions
(1) Now , between the right angled ∆+*<

and ∆,*= , +* = ,*

[supposition]

and AM = BN
∴ ∆+*< ≅ ∆,*=

∴ *< = *=

(2) ∴ +9 = ,-(Proved) [Chords equidistant from the center 
of a circle are equal]



Here ,OE=OF, If AB=6cm , CF=?

[J.B.-14]

(A)2

(B)3

(C)4

(D)6



Chapter-10.3



Chapter-10.3



Creative question

Let, O be the center of a circle where AB is a diameter and AD is a 

chord . A.find the area of a fish  where his diameter is 6.4 

meter . 2

B. Prove that, +, > -9. 4

C. If E is the midpoint of CD, Prove that, *? ⊥ -9.

4




